

139-S1111

# Fifth Amendment to Contract No. 017-A-09/10-BOS Between the County of El Dorado and Geosyntec Consultants, Inc

THIS FIFTH AMENDMENT TO CONTRACT No. 017-A-09/10-BOS made and entered between the County of El Dorado, a political subdivision of the State of California (hereinafter referred to as "County"), and Geosyntec Consultants Inc., duly qualified to conduct business in the State of California, whose principal place of business is 1111 Broadway Street, Sixth Floor, Oakland, CA 94607 (hereinafter referred to as "Consultant") hereby amends the Contract as follows:

#### WITNESSETH

WHEREAS, County has determined that in order to complete the Cap System, French Drain and Landfill Gas Emission Control System Operable Unit 1 at the Meyers Landfill, said project shall extend into the 2013 construction season, the fee schedule and contract term shall be revised, the parties hereto have mutually agreed to amend Articles IV and V, Item A.

**NOW, THEREFORE,** County and Consultant mutually agree that Contract No. 017-A-09/10-BOS be amended a fifth time as follows:

#### **ARTICLE IV**

**Term:** This Contract shall be amended to extend for one (1) year, expiring on December 31, 2013.

#### **ARTICLE V**

#### Compensation for Services:

A. For services provided herein, County agrees to pay Consultant by tasks, upon receipt of itemized invoices detailing a description of work performed. Payments shall be made within sixty (60) days following County's receipt and approval of invoices. For the purposes hereof, the billing rate shall be in accordance with Exhibit A marked "Fifth Amendment - For Supplemental Services Performed July 1, 2011 to December 31, 2012" attached hereto and incorporated herein.

Exhibit A of the Fourth Amendment is superseded by Exhibit A of the Fifth Amendment.

Except as herein amended, all other parts and sections of that Agreement No. 017-A-09/10-BOS, dated the 7th day of June, 2010, the First Amendment made and entered into the 29<sup>th</sup> day of June, 2010, the Second Amendment made and entered into the 14<sup>th</sup>

day of December, 2010, the Third Amendment made and entered into the 15<sup>th</sup> day of December, 2011, and the Fourth Amendment made and entered into the 17<sup>th</sup> day of April, 2012 shall remain unchanged and in full force and effect.

Danis attent	0	A alua ! ! 4	0
Reduestina	Contract	Administrator	Concurrence

Bv:		•	_		
Dy.		9	Rel	SILUM	
	O 0:1		MAG	DELLO	

Gerri Silva, M.S., REHS

Director

**Environmental Management** 

Dated: december 17, 2012

Dated: december 17, 2012

**Requesting Department Head Concurrence:** 

By: Ceria Siwa

Gerri Silva, M.S., REHS

Director

**Environmental Management** 

IN WITNESS WHEREOF, the parties hereto have executed this Fourth Amendment to Contract No. 017-A-09/10 BOS the day and year last below written.

## -- COUNTY OF EL DORADO --

Dated:

Chair

Knight Chair Board of Supervisors

"County"

ATTEST:

James S. Mitrisin

Clerk of the Board of Supervisors

Dated: 12-18-12

3

## -- CONSULTANT --

Geosyntec Consultants, Inc. (A California Corporation)

(mlw)

By: Manay T. Bina Dated: 12/12/12

Nancy T. Bide, P.G., C.E.G, Principal Geosyntec Consultants, Inc.
"Consultant"

By: Manay T. Bina Dated: 12/12/12

Corporate Secretary

(139-S1111)

## For Supplemental Serives Performed 1 July 2011 through 31 December 2012

## TRUING ESTIMATE FOR CQA SERVICES and AIR/NOISE MONITORING LANDFILL CAP CONSTRUCTION MEYERS LANDFILL OU-1 El Dorado County, California

IT	'EM	Unit		Unit Rate	NUMBER	UNADJUSTED COST	MARK- UP		TOTAL
	1								
1.01	CQA Officer	hour	\$	167.12	41	\$6,852	1	\$	6,851.84
1.02	Assistant CQA Manager	hour	\$	130.78	. 0	\$0	1	\$	
1.03	CQA Field Manager	hour	\$	77.50	701.75	\$54,386	1	\$	54,385.98
1.04	Per Diem - CQA Field Manager	day	\$	40	66	\$2,640	1	\$	2,640.00
1.05	Lodging/Utilities (All Personnel)	day	\$1	20 or less	66	\$6,575	1	\$	6,575.00
1.06	Vehicles/Fuel	day	\$1	00 or less	66	\$5,849	1	\$	5,849.00
1.07	Nuclear Density Gauge	week	\$	210	8	\$1,680	1	\$	1,680.00
1.08	Miscellaneous (Shipping, Supplies, etc.)	lump	\$	523	1	\$523	1	\$	523.00
2.09	Geotech/Concrete Laboratory Charges	lump	\$	7,448	1	\$7,448	1.1	\$	8,192.77
2.10	Agronomy Tests	lump	\$	975	0	\$0	1.1	\$	-
2.11	Geosynthetics Laboratory Testing	lump	\$	3,009	1	\$3,009	1.1	\$	3,309.86
3.12	Principal	hour	\$	202.28	0	\$0	1	\$	-
3.13	CQA Officer	hour	. \$	167.12	29	\$4,846	1	\$	4,846.42
3.14	Assistant CQA Manager	hour	\$	130.78	100	\$13,078	1	\$	13,077.75
3.15	CQA Field Manager	hour	\$	77.50	0	\$0	1	\$	-
3.16	Technical Word Processor	hour	\$	65.10	14	\$911	1	\$	911.40
3.17	CADD Designer	hour	\$	102.90	9.15	\$941	1	\$	941.10
3.18	CADD System	hour	\$	12	8	\$96	1	\$	96.00
3.19	Miscellaneous (Reproduction, Shipment, etc.)	lump	\$	1,000	1	\$1,000	1	\$	1,000.00
4.20	CQA Officer	hour	\$	167.12	200	\$33,424	. 1	\$	33,423.60
4.21	Assistant CQA Manager	hour	\$	130.78	30	\$3,923	1	\$	3,923.33
4.22	Administrative Assistant	hour	\$	60.59	22.25	\$1,348	1	\$	1,348.02
4.23	Vehicle/Fuel	day	\$	100	7	\$700	1	\$	700.00
4.24	Miscellaneous	lump	\$	500	0	\$0	1	\$	-
5.25	COA Officer	hour	S	167.12	. 0	\$0	1	\$	-
5.26	Assistant CQA Manager	hour	\$	130.78	0	\$0	1	\$	-
5.27	Field Monitor	hour	\$	69.04	342.5	\$23,645	1	S	23,645.34
5.28	Rental Monitoring Equipment	lump	\$	5,633.74	1	\$5,634	1	\$	5,633.74
5.29	Stormwater Sampling/Testing	event	\$	4,250.00	0	\$0	1	\$	-
5.30	Per Diem - Field Monitor	day	\$	4,230.00	0	\$0	1	\$	
5.31	Offroad Vehicle/Fuel - Field Monitor	day	\$	80	35	\$2,800	1	\$	2,800.00
5.32	Miscellaneous Field Supplies	lump	\$	100	0	\$2,800	1	\$	2,000.00

TOTAL \$ 182,354.14

#### Notes:

- 1- Geosynthetic laboratory testing to be performed by Precision Geosynthetic Laboratory of Anaheim, California.
- 2- Geotechnical and concrete testing to be performed by Sierra Testing Laboratory of El Dorado Hills, California.
- 3- Assumes laboratories to be under a subcontract agreement with Geosyntec Consultants.